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follows : 14
Machine-I  Machine-1i
Cost of Machine 710,00,000 ~ ¥15,00,000
Expected life 5 years 6 years
Annual income before tax and depreciation ¥ 3,45,000 x 4,55,000
Depreciation is to be charged on straight line method.
You are required to ; '
(i) Calculate discounted pay-back period, Net-present value and internal rate of
return for cach machine. :
(ii) Advise the management as to which machine they should take-up.
The present value factors of T | are as follows :
Year 1 2 3 4 | § 6
12% | 0.893 [ 0.797 | 0.712 | 0.636 | 0.567 | 0.507
13% | 0.885]0.783 [ 0.693 | 0.613 | 0.543 | 0.480
14% | 0.877 [ 0.769 | 0.675 ] 0.592 [ 0.519 | 0.456
15% | 0.870 | 0.756 | 0.658 | 0.572 | 0.497 | 0.432
16% | 0.862 | 0.743 1 0.641 | 0.552 | 0.476 | 0410
OR
(a) Explain how discounted cash flow methods are superior over pay-back period
method of capital budgeting. 7
(b) Discuss Terminal value method. 7
2 Attempt any two: 14 -
(a) Explain'Decisiun Tree analysis.
(b) From the following data, state which project is better :
Project A B
Cash flows T ?
Year 0 - 10,000 - 10,000
I 4,000 /5,000
2 4,000 6,000
3 2,000 . 3,000
5 P.;T.Q.-
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The management of P limited is considering selecting a machine out of two machines.
y's cost of capital is 12% and tax-rate is 30%, other information 1s as



(c)

(d)

3. (a)

(b)

(c)
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Riskless discount rate is 5%, Project-A is less risky as compared to Project-B :
The management considers risk premium rates at 5% and 10% respectively for

Project A & B for discounting the cash inflow. The present value factor of ¢ | are
as follows :

Year | 2 3
2% 0952 0.907 0.864
10% 0909 0826 0.751
15% 0870 0.756 0.658

Q. L. is considering one of two proposals, Praject M and N, which require cash

outlays of ¥ 830,000 and 2 8,25,000 respectively. - The current yield on
Government bond is 6% and it is used as risk free rate, The expected net cash
flows and the

ir certainty equivalents are as follows :

Year End Project M Project N
Cashflow () | C.E. | Cash fiow (%) C.E,
| 450,000 0.8 4,50,000 0.9
2 5,00,000 0.7 4,50,000 0.8
3 5,00,000 0.5 5,00,000 0.7

Present value factors of 2 I discounted at 6
0.943, 0.890 and 0.840 respectively,

You are required to guide the mana
aceepted.

% at the end of year 1, 2 and 3 are

gement about which project should be

Explain Sensitivity Analysis.

Divisions X and Y are currently considering an outlay on new investme

nt project, 7
Division-X Division-Y
Investment outlay T 2,00,000 T 2,00,000
Net Annual Retum < 32,000 $22.000.
Target ROI _ 18% 11%

The groups cost of capital is 13%. Which projects should be aceepted or rejected

Jusing ROl and R,

OR
What is Responsibility Accounting ? Explain Responsibility centres in detail.

Attempl any two : 4
(i)  Explain advantages of Responsibility Accounting.

(i)  Explain Residual Income Method.

(iii) Discuss limitations of ROL.

Answer the following :

(1) Define Responsibility Accounting,

(ii))  What is Divisionalisation ? .
(iii) State limitations of Responsibility Accounting.

'al



. A company has two divisions, Division A & B. Division A has a budgét of selling
2,00,000 units of a component X to fetch a return of 20% on the average assels

employed. The following information of Division A is given ; 14
Particulars L4 |
Fixed Overheads 5,00,000
Variable cost T 1 per unit
Average Assets — Debtors 2,00,000
Inventories 5,00,000
Plant 5,00,000

However there is constraint in marketing and only 1,50,000 units of the component X
can‘he directly sold to market at the proposed price. Consequently, Division B is
advised to buy 50,000 units of Component X. A wants a price of T 4 per unit but B is
prepared to pay T 2 per unit of X. ' :

' Division A has another option on hand, which is to produce only:1,50,000 units
of component X. This will reduce the holding of assets by ¥ 2.00,000 and fixed
overheads by ¥ 25,000. You are required to advise the most profitable course of action
for division A. ‘

_ OoR
(a) Define Transfer pricing. Explain objectives of transfer pricing. - 7
(b) Explain market price method of transter pricing. |
5.  Choose the correct option : B 14
(1) Division under transfer pricing system is Irqatcd as .
(a) Cost centre (b) Investment centre
(s} Profitcentre. (d) None of these
(2) Popular method of transfer pricing is
(a)  Cost based pricing : . (b} Market based pricing
(c) Negotiated pricing (d) Opportunity cost pricing
(3) Responsibility accounting is a part of .
(a) Global responsibilily system (b) Extema_! reporting system
(&) [Internal reporting system ., (d) - Corporate reporting system

(4) Profit centre is responsible for maximizing
(a) Profit of the organisation (b) Profit of the centre

(c) Profitof product (d) Noneofthe above

(5) Depreciation is included in cost in case of

(a) Pay-back method
(c)- Accounting Rate of Return method  (d)

7 . PT.0.

(b) IRR method
None of the above
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(6) Sensitivity analysis provides a single estimate of future return from prdject' .
- (a) True ' (b) False

(7) Probability means the likelihood of happening an event
() True (b) False

(8) Transfer pricing is concerned with -
“(a) Inter-organisational transfer
(b) Intra-divisions of an organisation
(c) Both of the above |
(d) None of'the above

(9) Which of the following factor is not non-financial factor in capital budgeting ?
(a)- Organisational behaviour (b)  Human and Social factor

(¢) Technical issues (d) Depreciation and taxes -

(10) A company's ROl would generally increase when

(a) Assels increase (b) Selling price decrease
(c) Costs decrease (d) Costs increase
(11) Under method of pricing, two separate transfer pricing methoils are
used. :
(a) Negotiated Transfer Price (b) Dual Pricing
(c)- Market Price Method (d) Total Cost Method
(12) IRR 1s .
(a) Cut-off Rate {b) Hurdle Rate
(¢) WACC ; (d) Allofthe above
(13) Under which method cash flow of each year is re-invested ?
" (a) . Net Present Value ' (b) Terminal-Value
(c) Pay-back Period _ (d) Intemnal Rate of Retum
" (14) Higher the discount Rate,
(a) lower the present value (b) - higher the present value
(¢) no relation with present value (d) None of these
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